 




       

      


UAF/CT/4009(AFMI)

B.Com. (Acc. & Fin.) DEGREE EXAMINATION, APRIL 2016.
II YEAR — IV SEMESTER

Major Paper IX — ADVANCED CORPORATE ACCOUNTING
Time : 3 hours


    Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.
1. What is amalgamation?

2. K Ltd. agrees to purchase the business of A ltd on the term that for each of the 10000 shares of 
`10 each in A ltd. 2 shares in K ltd of `10 each will be issued at an agreed value of Ra.12 per share. In addition, `2 per share cash also will be paid. Calculate purchase consideration.

3. What is post-acquisition profits?

4. On 31st March 1998, ABC Bank Ltd., finds its advances classified as follows:
      







`
Standard assets 



- 
14,91,300

Sub-standard assets


- 
     92,800

Doubtful assets (secured)

Doubtful for 1 year


- 
     25,660

Doubtful for 1 – 3 years
 
- 
     15,640

Doubtful for more than 3 years 
- 
       6,580

Loss assets




- 
     10,350

Calculate the amount of provision to be made by the bank against the above mentioned advances.

5. The trial balance of N Bank ltd. as on 30th June 1984 shows the following balances:

Interest and discount 



 –  `45,40,600

Rebate on bills discounted (1.7.1983)   –  `4,750

Bills discounted and purchased 
          –  `3,37,400

The unexpired discount as on 30.6.84 is estimated to be `5,560. Calculate the amount of interest and discount to be credited to P&L Account.

6. What is a Non - performing assets?

7. What is whole life policy?

8. A life insurance co disclosed a fund of `20,00,000 and the balance sheet total `45,00,000 on 31.3.2006 before taking into consideration:

Reinsurance recoveries 
-  `26,000

Agents commission paid 
-  `8,000

Pass journal entry for the above omission.

9. What is Liquidation?

10. Calculate Liquidator’s remuneration from the following:

Assets realized: Land – `9,00,000, Plant `15,00,000, Patents, `2,25,000 Stock `4,50,000 
and Sundry Debtors – `6,00,000. The liquidator is entitled to a commission of 3% on assets 
realized.

11. Following were the balance sheet of H ltd. and S ltd., as on 31st December 2005. Calculate the ratio of interest of Holding company.

	Liabilities
	H ltd(`)
	S ltd(`)
	Assets
	H ltd(`)
	S ltd(`)

	Share Capital (`10 each)
	2,50,000
	1,50,000
	Fixed Assets
	1,50,000
	1,40,000

	P&L A/C
	1.50,000
	50,000
	Current Assets
	1,00,000
	60,000

	
	
	
	Investments (9000 Shares in S ltd.)
	1,50,000
	-

	Total
	4,00,000
	2,00,000
	Total
	4,00,000
	2,00,000



12. Following are the balance sheet of H ltd and S ltd as on 31.12.2005

	Liabilities
	H ltd(`)
	S ltd(`)
	Assets
	H ltd(`)
	S ltd(`)

	Share Capital (`10 each)
	2,00,000
	80,000
	Land and Building
	96,000
	80,000

	Reserve
	40,000
	24,000
	Machinery
	64,000
	40,000

	P&L A/C
	56,000
	36,000
	Investment in  share of S ltd. (at face value)
	60,000
	-

	Creditors
	24,000
	20,000
	Current Assets
	1,00,000
	40,000

	Total
	3,20,000
	1,60,000
	Total
	3,20,000
	1,60,000


There was a credit balance of `8,000 P&L account of S ltd. on 1.1 2005. During the year 2005, 
`4,000 was transferred to reserves and 15% dividend was declared. You are required to calculate the current year’s profit of S ltd.
SECTION B   (5 × 5 = 25 marks)

Answer any FIVE questions.

13. Given below are the balance sheets of two companies on 31.12.2005

	Liabilities
	X ltd(`)
	Y ltd(`)
	Assets
	X ltd(`)
	Y ltd(`)

	Share Capital (`20 each)
	4,00,000
	1,60,000
	 Buildings
	4,00,000
	2,00,000

	Revenue Reserve
	1,60,000
	-
	Investment (6000  shares in Y ltd.)
	1,20,000
	-

	Profits
	80,000
	72,000
	Stock
	1,60,000
	1,20,000

	Bills Payable
	60,000
	64,000
	Cash
	80,000
	40,000

	Creditors
	60,000
	64,000
	
	
	

	Total
	7,60,000
	3,60,000
	Total
	7,60,000
	3,60,000


X ltd purchased shares in Y ltd. on 30.6.2005. The Balance sheet of Y ltd showed a loss of `84000 on 31.12.2004, which was set off out of profits earned during 2005.Assume profits are earned evenly throughout the year. Ascertain the interest ratio of both companies ,Pre-acquisition Profit and Post-acquisition Profit.

14. Differentiate amalagamation and absorption.

15. The following is the Balance Sheet of Amrita Ltd
	Liabilities
	`
	Assets
	`

	Share capital
Debentures
Sundry creditors
General reserve
Profit & Loss A/c

	60,000
10,000
6,000
4,000
20,000
	Goodwill
Land & building
Plant & Machinery
Stock
Debtors
Cash
Preliminary expenses
	28,000
16,000
28,000
16,000
8,000
2,000
2,000

	Total
	1,00,000
	Total
	1,00,000


Bangalore Ltd takes over the business of Amrita Ltd. the value agreed for various assets
are: Goodwill `22,000, Land & Building `25,000, Plant and Machinery `24,000, Stock `13,000 and Debtors `8,000. Bangalore Ltd does not take over cash but agrees to assume the liability of sundry creditors at `5,000. Calculate the purchase consideration.
16. In respect of the following transactions of Best Bank Ltd pass necessary journal entries as well as
their treatment in the P&L A/c and Balance Sheet for the year ended 31st March 2011.
The following bills are discounted at 5%.
	Discounted on
	Amount (`)
	Terms (months)

	23.12.2011
19.09.2011
20.10.2011
30.11.2011
	50,000
1,00,000
4,00,000
30,000
	3

4

3

5


17. A life insurance company gets its valuation made once in every two years. Its life assurance fund
on 31st December 2011 was `55,55,000 before providing for 55,000 being the shareholders’
dividend for 2011. Its actuarial valuation on 31st December 2011 disclosed a net liability of
`35,00,000. an interim bonus of `1,00,000 was paid to policyholders during the previous two
years. Show Valuation Balance Sheet, Net Profit for the period and Distribution of surplus.
18. Under what circumstances, a company becomes a subsidiary of another?
19. The following particulars relate to a limited company which went into voluntary liquidation: 
Preferential Creditors 

`25,000

Unsecured Creditors

`58,000

6% Debentures


`30,000

The asset realized `80,000 . The expenses of liquidator amounted to `1,500 and the liquidator remuneration was agreed at 2 ½% on the amount realized and 2% on the amount paid to unsecured creditor including preferential creditors.

Show the liquidator’s final statement of account.
SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions.
20. Following figures have been obtained from the books of Rai Bank Ltd for the year ending 31st
March 2011(figures in ‘000):
Issued and subscribed capital `1,000, Interest and discount earned `3,800, Commission and
exchange earned `195, Interest paid `2,000, Salaries and wages `210, Directors fees `35,
Rent and taxes `70, Postage and telegrams `61, Profit on sale of investments `240, Loss on
sale of investments `38, Rent received ` 62, Depreciation `31, Stationary `60 and Auditors fees `8.
Additional information:
(a)
The profit and loss account had a balance of `10,00,000 on 1st April 2010.
(b)
An advance of `12,00,000 has become doubtful and it is expected that only 50% of the
    
amount due can be recovered from the security.
(c)
The provision of tax is made at 50%.
(d) A dividend of 10% is proposed.
Prepare Profit and Loss Account of Rai Bank Ltd for the year ending 31st March 2011.
21. From the following figures taken from the books of Asia Insurance Co. Ltd doing the fire      insurance business, prepare the final accounts for the year 2010‐2011.
	Fire fund on 1st April 2010
General Reserve
Investments
Premium
Claims paid
Share capital – Equity shares @ `100 each
Additional Reserve on 1st April 2010
Profit and loss Account (credit)
Reinsurance premium
Claims recovered from reinsurers
Commission on reinsurance ceded
Advance income tax
agents’ balance (Debit)
Commission on direct business
Commission on reinsurance accepted
Outstanding premium
Claims intimated but not paid on 1st April 2010
Expenses of management
Audit fees (General)
Rate and tax (General)
Rent (General)
Income from investments
Sundry creditors
Cash in hand and bank balances
	(`)

9,30,000
4,50,000
36,00,000
27,01,533
6,02,815
9,00,000
3,30,000
75,000
1,12,525
21,119
48,016
2,50,000
20,000
2,99,777
60,038
22,300
60,000
4,31,947
36,000
5,804
67,500
1,53,000
22,500
1,82,462


The following further information may also be noted:

(a) Expenses of management include survey fees and legal expenses of `36,000 and       

     
`20,000 relating to claims.

(b) Claims intimated but not paid on 31st March 2011 `1,04,000

(c) Income tax to be provided @55%

(d) Proposed dividend 8%

(e) Transfer to general reserve `2,00,000

(f) Reserve for unexpired risk to be kept @ 40% of net premium.

22. K Co Ltd., went into voluntary liquidation on 31.12.1984 when their balance sheet read as follows:
	Liabilities
	`
	Assets
	`

	Issued & Subscribed Capital:

15,000 10% cumulative Preference shares of `100 each fully paid

7500 equity shares of `100 each, `75 paid

22,500 equity shares of `100 each `60 paid

15% debentures secured by a floating charge

Interest outstanding on debentures

Creditors
	15,00,000

5,62,500

13,50,000

7,50,000

1,12,500

9,56,250
	Land & Buildings

Plant & Machinery

Patents

Stock

Sundry Debtors

Cash at bank

Profit & Loss A/C


	7,50,000

18,75,000

3,00,000

4,02,500

8,25,000

2,25,000

8,53,750



	Total
	52,31,250
	Total
	52,31,250


Preference dividends were in arrears for 2 years and the creditors included preferential creditors of `38,000. The assets were realized as follows (a) Land and building `9,00,000,Plant and Machinery `15,00,000,Patents `2,25,000, St0ck `4,50,000, Sundry Debtors `6,00,000.The expenses of liquidation amounted to `27,250.The Liquidator is entitled to a commission of 3% on assets realized except cash. Assuming the final payments including those on debentures were made on 30.6.1985, Show liquidator’s final statement of account.

23. The following Balance Sheets are presented to you.

Balance Sheet as on 31.12.1989

	Liabilities
	A ltd(`)
	B ltd(`)
	Assets
	A ltd(`)
	B ltd(`)

	Share Capital (`50 each)
	2,50,000
	1,00,000
	Fixed Assets
	1,75,000
	75,000

	General  Reserve
	50,000
	-
	Stock in trade
	45,000
	20,000

	P&L A/C
	40000
	-
	Debtors
	30,000
	15,000

	6% Debentures
	-
	50,000
	6% Debentures in B ltd. acquired at par
	30,000
	-

	Trade Creditors
	37,500
	22,500
	Shares in B ltd, 1500 at `40
	60,000
	-

	
	
	
	Cash at bank
	37,500
	12,500

	
	
	
	Profit  & Loss A/C
	-
	50,000

	Total
	3,77,500
	1,72,500
	Total
	3,77,500
	1,72,500


A ltd acquired the shares on 1.4.89. The Profit & Loss account of B Ltd.  showed a debit 
balance of `75,000 on 1.1.89. Trade Creditors of B ltd include `10,000 for goods supplied by A ltd. on which A ltd., made a profit of `1,000. Half of the goods were still in stock on 31.12.89. Prepare the consolidated Balance sheet.
___________________________
[P.T.O.]








[P.T.O.]
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